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QUESTION 1

When users are created, which three access levels can be granted through the GTM Configuration Utility? (Choose
three.) 

A. Root 

B. Guest 

C. Operator 

D. Administrator 

E. CLI + Web Read Only 

Correct Answer: BCD 

 

QUESTION 2

Which two destination pods should be used in a default active FTP Session? (Choose two) 

A. UDP 20 

B. TCP 20 

C. TCP 22 

D. TCP 21 

E. UDP 21 

Correct Answer: BD 

https //slacksite.com/other/ftp html 

 

QUESTION 3

in which scenario would an SSL VPN solution have an advantage over an IPSec VPN? 

A. when users are unable to install software on their PC 

B. when users require a secure connection to the corporate network 

C. when users work remotely 

D. when users require the ability to RDP to internal resources 

Correct Answer: C 
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QUESTION 4

Which four of these statements regarding object size and WebAccelerator performance are true? (Choose four.) 

A. Large objects such as video cache well 

B. Large objects allow fewer requests per second 

C. Large objects result in higher throughput 

D. Small objects result in higher throughput 

E. Small objects such as images cache well 

F. Small objects allow more requests per second 

Correct Answer: BCEF 

 

QUESTION 5

By default, BIG-IP ASM allows which of the following HTTP methods in a client request? (Choose three.) 

A. PUT 

B. GET 

C. POST 

D. HEAD 

E. TRACE 

Correct Answer: BCD 

 

QUESTION 6

Why is BIG-IP ASM ideally suited to protect against layer 7 attacks, including HTTP and HTTPS/SSL traffic, when
compared to an intrusion prevention system (IPS)? 

A. An intrusion prevention system (IPS) is based on Packet Filtering. 

B. An IPS doesn\\'t have the visibility into HTTPS traffic. it doesn\\'t understand what applications are in the network. 

C. An IPS only focus on operating system attacks; it doesn\\'t understand what application are in the network. 

D. An IPS can only look at overall traffic patterns; it doesn\\'t understand what applications are in the network. 

Correct Answer: D 

 

QUESTION 7
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A VoIP application requires that data payloads will NOT be fragmented. Which protocol controls network behavior in this
situation? 

A. RTSP 

B. UDP 

C. TCP 

D. IP 

Correct Answer: A 

 

QUESTION 8

What are the two primary functions of the OSI 7-layer model? (Choose two) 

A. to group communications into logical layers 

B. to define host-to-host communications 

C. to standardize HTTP communications between different vendors 

D. to go interoperability between products made by different vendors 

E. to define protocol behavior 

Correct Answer: AE 

 

QUESTION 9

When configuring monitors for individual pool members, which three options can be selected? 

(Choose three.) 

A. inherit the pool\\'s monitor 

B. choose a default monitor 

C. inherit the Wide-IP\\'s monitor 

D. assign a monitor to the specific pool member 

E. do not assign any monitor to the specific pool member 

Correct Answer: ADE 

 

QUESTION 10

Identifying users by their IP address is a sufficient method of performing authentication and authorization. 
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A. True 

B. False 

Correct Answer: B 

 

QUESTION 11

An F5 customer must install WebAccelerator on top of LTM: 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 12

A client is transmitting a large amount of data to a server During this process, the server sets the window size to zero 

What is the likely cause of this issue? 

A. The server is unable to accept more data 

B. The server resets the connection 

C. The client runs out of network buffers 

D. The server reaches its maximum segment size 

Correct Answer: A 

htlps://wiki wireshark orgn/TCP%20ZeroWindow 

 

QUESTION 13

When initially configuring the BIG-IP system using the config utility, which two parameters can be set. (Choose two.) 

A. the netmask of the SCCP 

B. the IP address of the SCCP 

C. the port lockdown settings for the SCCP 

D. the netmask of the host via the management port 

E. the IP address of the host via the management port 

F. the port lockdown settings for the host via the management port 

Correct Answer: DE 
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QUESTION 14

The ARX is like a mini network manager. It is able to check the health of the environment and can raise alerts when
thresholds are reached. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 15

What is the advantage of specifying three load balancing methods when load balancing within pools? 

A. Specifying three methods allows the GTM System to use all three methods simultaneously. 

B. Specifying three methods allows the GTM System to choose the optimal method for each name resolution. 

C. Specifying three methods allows the GTM System alternate methods if insufficient data is available for other
methods. 

D. Specifying three methods allows the GTM System to rotate between the three methods so that no one method is
used too often. 

Correct Answer: C 
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